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01. ( )f x (2013) 4, (2021) 52, (2034) 13f f f= = =

(2055) __________f =

 

 

02. , , , ,A B C D E

03. 3

 

 

04. nF Fibonacci sequence 1 2 2 11, n n nF F F F F+ += = = + 500 

   

 

 

1.

2.  
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05. 10 8 6 4 2 1 0x x x x x+ + + + + =

 

 

06. ,x y R∈ 2 2 2 2
2 4 21 6 4 38x y x y x y x y+ − + + + + + − +

    __________

 

 

07. 2log log 1 5x x+ − <

 

 

08. ,x y R∈ 2 2 1x y+ ≤
2

2

x y

x y

+ +
− +

M m  

    __________M m+ =  

 

 

09. 

1 1 1

0 1 1

0 0 1

A

 
 =  
  

11 12 13

10

21 22 23

31 32 33

a a a

A a a a

a a a

 
 

=  
 
 

11 12 13( , , ) __________a a a =

 

 

10. ( , )x y y x

 

 

 

 

 

11. 2 24 4x y− = (1,1)

 

 

12. ( )y f x= x (5 ) (5 )f x f x+ = − ( ) 0f x =  

    6 6 __________  

 

x  1 3 5 7 9 

y  2 8 14 20 26 
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13. 6cm

d cm
2d

14. 1

2 3
:

1 2 2

x y z
L

+ +
= = 2

2 4 7
:

1 4 8

x y z
L

− − −
= =

1 2,L L

 

15. ( ) ( )2 4 3 6 0x y x y+ − ⋅ + − ≤

16. 
2 2

2

x x

y
−+

=
2 2
x x

k
y −=

+
2 __________k =

 

17. , , ,a b c d 2 2 1a b+ = 2 2( 3) ( 4) 2c d− + − = a b
c d

 

18. ABC∆ 1  

P P //DE BC //FG AB  

//HI AC PDH∆ PFI∆ PEG∆  

__________  

 

 

19. 0d > d R∈ P ( ,0 ), ( ,0)A d B d− 4d  

    
3 3

AP BP+ M m ( , ) __________M m =  

   d  

A

B C

P
D E

F

G
H

I
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20. O 1 P PBPA, A B  

    PBPA ⋅ __________  

 

5 20 %

 

21. S   

    { }1 1, 1 1S x i y x y= + − ≤ ≤ − ≤ ≤  

    z x i y= + S
3 3

4 4
i z

 
+ ⋅ 

 
 

    S __________  

 

 

22. ,x y 2 2 6x x y y+ + = 2 2 2 22x y x y x x y y x y+ − − − + +  

    M m ( , ) __________M m =  

 

 

23. 2x y= 23 2x y= −

X

24 H ABC∆ , ,BC a AC b AB c= = =  

   1 2 3: : : :ABH BCH ACH∆ ∆ ∆ =  

__________: :a b c =

 

 

 

A

B Ca

bc

H
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01 02 03 04 

356−  3380  
3

7
 334  

05 06 07 08 

4 3

2

+
 113  10 100x≤ <  4  

09 10 11 12 

(1,10,55)  1 3y x= − +  
119

3
 30  

13 14 15 16 

84  
1 1

2 5 7

x y z− +
= =  

88

5
 

25

8
 

17 18 19 20 

5 2+  3

12
 

3 3( 28 ,16 )d d  3 2 2− +  

5 20 %

21 22 23 24 

7

9
 (3, 8 6 2 )− −  6  8 3 5: :  

 

 

 

 


